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12:

13.

14.

15,

16.

17.

18.

Thirty percent of a number when subtracted from 91, gives the number itself. Find the
number

a. o0 b. 6
<. 70 d: 7

Ut U

Fresh grapes contain 95% water by weight, while dry grapes contain only 20% water
by weight. What is the weight of dry grapes available from 40 kgs of fresh grapes?

a. 2.5kgs b. 3 kgs

c. 2Kkgs d. 3.5kgs

A shopkeeper sold goods for Rs. 2000 at a profit of 50%. Find the cost price for the
shopkeeper

a. Rs1200 - b. Rs1333.33 =
c. Rs1350 d. Rs1250.55

A man buys shirt and trousers for Rs 371. If the trouser costs 12% more than the shirt,
find the cost of the shirt.

a. Rs150 b. Rs 200

c. Rsl175 d. Rs125

A fruit vendor recovers the cost of 25 mangoes by selling 20 mangoes. Find his
percentage profit

a. 5% b. 20%

c-50% d. 25%

A reduction in the price of petrol by 10% enables a motorist to buy five gallons more
for $180. Find the original price of petrol

a. 25 per gallon b. 45 per gallon

c. 5% per gallon d. 10$ per gallon

By selling five articles for Rs15, a man makes a profit of 20%. Find his gain or loss
percentage if he sells eight articles for Rs. 18.4.

a. 16.66% b. 25%

c 8% d. 20%

Aman makes an article for Rs.500 and sells it to Baman at a profit of 10%. Baman sells
it to Charan who sells it for Rs. 660, making a profit of 10%. What profit percent did
Baman make?

a. 9.09% b. 12%
c. 16.66% d. 3333%

A shopkeeper bought locks at the rate of 8 locks for Rs. 34 and sold them at the rate of
12 locks for Rs. 57. Calculate his gain percent

a. 9.33% b. 125%

c 11.11% d. 11.76%

A dozen pairs of gloves quoted at Rs.120 are available at a discount of 20%. Find how
many pairs of gloves can be bought for Rs16

a. 2 b3
c 4 d. 6
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20.

23.

24.

25.

26.

27

28.

By selling a boole for Rs. 1080, a shopkeeper incurs a loss of 10%. Find the cost price of =

the book for the shopkeeper

a. Rs1200 b. Rs 1300

c. Rs1280 d. Rs 1240

By selling a cap for Rs. 29.75, Bhupendra Jogi gains 6.25%. What will be the CP of the
cap?

a. Rs26 b. Rs27.5

c. Rs28 d. Rs27.80

A cellular phone when sold for Rs.3808 fetches a profit of 12%. Find the cost price of
the cellular phone.

a. Rs3190 - b. Rs3400

c. Rs3260 d. Rs 3560

Rs. 1200 is lent out at 5% per annum simple interest for 3 years. Find the amount after
3 vears?

a. Rs 1380 b. Rs1290

c. Rs 1470 d. Rs 1200

The SI on a sum of money is 25% of the principal, and the rate per annum is equal to
the number of years. Find the rate percent.

a. 45% b. 6%

c. 5% d. 8%

A sum of money doubles itself in 12 years. Find the rate of interest per annum.
a. 125% b. 8.33%

c. 10% d. 751%

If Rs 1100 is obtained after lending out Rs. X at 5% per annum for 2 years and Rs.1800
is obtained after lending out Rs. Y at 10% per annum for 2 years, find X + Y.

a. Rs 2500 b. Rs 3000

<. Rs 2000 d. Rs2200

A boat goes 6 km in one hour in still water, but takes thrice as much time in going the
same distance against the current. The speed of current (in kmph) is:

a. 2 b. 3

e d: d. 5

The length of the bridge (in metres), which a train 225 m long and travelling at 45
kmph can cross in 30 seconds is:

a. 150 b. 500

¢ 250 d. 300

Manish travels a certain distance by car at the rate of 12 km/h and walks back at the
rate of 3 km/h. The whole journey took 5 hours. What is the distance he covered on

the car?
.12 b. 30
15 d. 6
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